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0. TANGENTS & SECANTSTO A CIRCLE

The length of the tangents from a point A to a circle of radius 3 cm
IS 4 cm, then the distance between A and the centre of the circleis
_____tangents lines can be drawn to a circle from a point outside the
circle.

Angle between the tangent and radius drawn through the point of
contactis

A circle may have parallel tangents.

The common point to atangent and acircleiscalled

A line which intersects the given circle at two distinct pointsis
cadleda__ line.

Sum of the central anglesinacircleis

The shaded portion represents
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9.1f acircle touches al the four sides of an quadrilateral ABCD at points
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PQR, SthenAB+CD=__

If AP and AQ are the two tangents a circle with centre O so that
Z/POQ =110°then Z/PAQisequa to

If two concentric circles of radii 5 cm and 3 cm are drawn, then the
length of the chord of the larger circle which touches the smaller
circleis

If the semi perimeter of given AABC = 28 cm then AF+BD+CE is
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The area of asquare inscribed in acircle of radius8 cm is cm?.
Number of circles passing through 3 collinear pointsin aplaneis

In the figure ZBAC
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If the sector of the circle made at the centre is x° and radius of the
circleisr, then the area of sectoris_

If the length of the minute hand of a clock is 14 cm, then the area
swept by the minute hand in 10 minutes

If the angle between two radii of acircleis 130°, the angle between
the tangents at the ends of theradii is_

If PT istangent drawn from a point Pto acircle touching it at T and
O isthe centre of the circle, then LOPT+£ZPOT is

Two parallel lines touch the circle at points A and B. If area of the
circleis 25ncm?, then ABisequal to

A circlehave  tangents.

A quadrilateral PQRS is drawn to circumscribe acircle. If PQ, OR,
RS (incm) are 5, 9, 8 respectively, then PS (incms) equal to
From thefigure ZACB=__
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PA and PB are tangents to the circle with centre O touching it at A

and B respectively. If Z/APO =30° then /POB

Two concentric circles of radii a and b where a>b are given. The
length of the chord of the larger circle which touches the smaller
circleis

From the figure, the length of the chord AB If PA =6 cm and ZPOB
= 60°
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Two circles of radii 5 cm and 3cm touch each other internally. The
distance between their centresis
The lengths of tangents drawn from an external point to acircle are

ANSWERS

1) 5cm; 2) 2; 3) 90°; 4) 2; 5) Point of contact; 6) Secant line; 7)
360°; 8) Minor segment; 9) BC + AD; 10) 70°; 11) 8 cm; 12)
28cm; 13) 128;14) 1; 15) 30°;

X 2 2 . off
16) 360" ; 17) 102§sq.cm, 18) 50°; 19) 90°: 20) 10cm; 21)

Infinitely many; 22) 4cm; 23) 90°; 24) 65°; 25) 2va’ —b*; 26) 6¢cm;
27) 2cm; 28) equal.



